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Alcohol & Ether

ALCOHOL & ETHER
1. Consider the following reactions :

(a) 2 4conc.H SO
3 3 3(CH ) CCH(OH)CH

(b) 
alc.KOH

3 2 3(CH ) CHCH(Br)CH

(c) 
3 3

3 3

given by NTA (CH ) O K
3 2 3 It should be (CH ) CO K

(CH ) CHCH(Br)CH

(d) (CH ) C–CH –CHO3 2 2

OH
Which of these reaction(s) will not produce
Saytzeff product ?

(1) (c) only

(2) (a), (c) and (d)

(3) (d) only

(4) (b) and (d)

2. In the following reaction squence, structures of
A and B, respectively will be :

    
CH Br2

HBr Na
Ether

A (intramolecular Product) B

O

(1) 

CH Br2

Br

OH

&

OH

(2) 
CH Br2

OH

Br

&

CH Br2

O

(3)

CH Br2

OH

Br

&

Br

O

(4) 

CH Br2

Br

OH

&

OH

3. Among the compounds A and B with
molecular formula C9H18O3 , A is having higher
boiling point than B. The possible structures of
A and B are :

(1) OHA = HO

HO

OCH3B = H CO3

OCH3

(2) OCH3A = H CO3

OCH3

B = HO

OH

OH

(3) OCH3A = H CO3

OCH3

OHB = HO

HO

(4) OHA = HO

HO
B = HO

OH

OH

4. The major product in the following reaction is :
CH=CH2H C3

 3H O
Heat

(1) 

CH3H C3

(2) 
H C3

OH

CH3

(3) 

CH3

CH3

 (4) 
CH3

CH3
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Alcohol & Ether

5. When neopentyl alcohol is heated with an acid, it

slowly converted into an 85 : 15 mixture of alkenes

A and B, respectively. What are these alkenes ?

(1) 

H C3 CH3

H C3

 and 
H C3

CH2H C3

(2) 

CH3

CH2

CH3

 and 

CH3 CH2

CH3

(3) 
H C3

CH2H C3

 and 

H C3 CH3

CH2

(4) 

H C3 CH3

H C3

 and 
H C3

CH3

CH2

6. The number of chiral centres present in [B] is

_______.

CH–C 

CH3

(i) C H MgBr2 5

(ii) H O3
+

[A]

3

2

(i)CH MgBr
(ii) H O

[B]

7. The major product [B] in the following reactions
is :-

CH –CH –CH–CH –OCH –CH3 2 2 2 3

CH3

HI
Heat [A] alcohol H SO2 4 [B]

(1) CH –CH –C=CH3 2 2

CH3

(2) CH3–CH2–CH=CH–CH3

(3) CH2=CH2

(4) CH –CH=C–CH3 3

CH3

8. The major product of the following reaction is:

HO CH CH2 3

O

 2 4H SO

(1) 

O

CHCH3

(2) 

CH CH2 3

O

(3) 

CH CH2 3

O
(4) 

CH=CH2

O

9. The major product obtained from the following
reaction  is  -

O2N C C OCH3
Hg2+/H+

H2O

(1) 

O2N

OH

O

(2) 

O2N

OCH3O

(3) 

O2N

OCH3

O

(4) 

O2N

OH
O



®

3

no
de

06
\B

0B
A

-B
B\

Ko
ta

\J
EE

 M
A

IN
\J

ee
 M

ai
n-

20
20

_S
ub

je
ct

 To
pi

c 
PD

F 
W

ith
 So

lu
tio

n\
Ch

em
is

try
\E

ng
lis

h\
O

C\
6-

A
lco

ho
l &

 E
th

er

E

Alcohol & Ether

SOLUTION

1. NTA Ans.   (1)

Sol.

(a)     CH – C – CH – CH33

CH3

CH3 OH

H+

+–H O2
CH – C – CH – CH33

CH3

CH3

CH – C – CH – CH33

CH3

CH3
+H+–

(Saytzeff
major)

(b) CH – CH – CH – CH33

CH3 Br
 alc.KOH CH – C = CH – CH33

CH3
(Saytzeff
major)

(c) CH – CH – CH – CH33

CH3 Br
 

O   K   / – +

(Hoffmann
major)

(d) CH – CH – CH – C – H23

CH3

OH O

CH – C – H

O

(Saytzeff
major)

CH3

CH3

(CH3)3O–K+ is incorrect representation of
potassium tert-butoxide [(CH3)3CO–K+].

So it is possible that it can be given as Bonus

2. NTA Ans.   (4)

Sol.

CH2–Br

O
HBr

OH

CH –2 Br
Br

(A)
Na/ether

OH

3. NTA Ans.   (1)
Sol. Alcohol has more boiling point than ether

(due to hydrogen bonding).
So,

OH

OH

HO

 has more boiling point than
OCH3A = H CO3

OCH3

4. Official Ans. by NTA (3)

Sol.
CH=CH2H C3

Heat
H O3

+

 

CH3 CH–CH3

ring expansion

                    –H+

CH3

CH3major
5. Official Ans. by NTA (4)

Sol.
OH
.. H+

–H+

HH

–H+

(A)

(B)
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6. Official Ans. by NTA (4)
Sol.

CH–C N
CH3

(i) C H MgBr2 5

(ii)  H O3
+ CH–C–C H52

CH3

O

(i) CH MgBr3

(ii) H O2

CH–C–C H52

CH3

OH

CH3

7. Official Ans. by NTA (4)

Sol. CH –CH –CH–CH –OCH –CH3 2 2 2 3

CH3

HI/

CH –CH –CH–CH —O—CH –CH3 2 2 2 3

CH3

HSN2

SN2

I–

CH –CH –CH–CH –OH   +  CH –CH –I 3 2 2 3 2

CH3

[A] H SO /2 4

CH –CH=C3

CH3

CH3

(major)

Prefer to 
less hindrance

8. Official Ans. by NTA (2)

Sol. HO CH CH2 3

O

H

from
(H SO )2 4

O–H CH CH2 3

O

H

–H O2

O

H

CH CH2 3

+HSO4

–H SO42O

CH CH2 3–

9. Official Ans. by NTA (3)


